AIZED

<BERE>
o5 INTEATAE
JEH4 mm/ miE EEHh 5A 64 1R
=8 A B | &F | ATH | B'F | A1F | &RE
AEFED FE ® 972 | 702 | 648
ATZED FH [ £ 540
AZEDH/ERE E] ® 540 | 540 | 540
ATZEDH/ XN HE ® 1,080 | 864| 702| 702
ATZE D/ K% HE &= 702 | 756
BEEAFER) | ZEEH/(FEMAE) BE R 756 | 756 | 756
ZEFEDH/BBRE b &= 648 | 648
AEED/EDIE iE 1001y 3 141
AEEH/BEBEE b 100g247-Y) ® 162
AEED/ b 0E iz 100g27=Y EnS 270
AEED/BOBKRDOEEE 0T iz % 594
ATZED FH [ & 499
AEFED/MEELORE|  EE &% 499 [ 499
= B () ZAEED/(BFEL) FE =% 980 | 799
ATZEDH/ XN HE = 799
ATZE D/ REx HE &= 799
ZTEESD BE = 399
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AIZED

<BERE>
o5 INTEATAE
B4 %/ EhiE EEHh 5A 64 1R
=8 A B | &F | ATH | B'F | A1F | &RE
ATZED HE ® 680
ATZEDH/ XN HE &® 1,080 [ 1,080 | 1,080
ATZE D/ K% HE ® 1,296 | 1,080 | 1,080
ATZEDH/KRIE HE &= 1,296
ZEESD/IFHo1R | #wEII % 980
AZEDH/BE 7R E] % 980
G () if:“i&a/%ﬁgﬂ* FE &= 1,080
ZTEFEDH/(#xFEL) FE £ 1,080 980
AEED/ BT S<EEL) FE &® 880
AEESH/ (B AFE) FE R 2,160 | 1,620 1,620
AEEH/BEBERE i &= 880
AZEDH/ WELGED iR = 781
AEED/EZH0E iz EnS 781
AEED/T— BT (BEL) T % 880
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INTEATIAE
AL A
J& &% M4/ g i 5H 64 ;)
2H s B B | &F | ATH | B'F | A1F | &RE
AEFED bk &® 429
AZEFED F# @ £ 429
AEED mmE ® 645
K B R EACTRR) s = 322
AEEDH/ K HE £ 537 | 645
AEED R & 537
AEED im £ 429
AEED = £ 429
AEFED GEdba &® 429
AZEEFED F# i) £ 321 429
AZED/BE Gl = 537
AEFED FE &® 1,058 321
RBERIECCIRR) ZFEFEH/ XN HE £ 734 | 842| 842
AZED HE &= 645
AEED/ERE im £ 545
AEED im £ 321
AZED/ bR iRz £ 645
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